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Section 19.3 Notation for functions
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{ Example 1 )

The functions fand g are defined on R such that
f:x—x+5 and g:x—x2—1.
Find (i) f(3) (i) g(=3) (i) fl2k) (iv) flk +1) (v) g(3k) (vi) gk + 1)

{ Example 2 )

A function is defined by f:x — 4x — 5.
(i) Findf(3)
(i) Find the value of k for which kf(3) = f(10).
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Exercise 19.3
1. If fix) =2x—3,find

(i) 1)
(ii) f0)
(i) f(2)

(iv) fi—=1)

(v) f(—3).

2. If flx) =4x—5,find

02 4(a)-5=> &-5=3 F(23=39 €2.3)
i o ylo) -5 = 0-5= -5

i -3 4q(-3)-§=> -12-5= ~ I3

w iy 4@)-5s= 2-5=-3

w ) 4(d)-5=1-5=-¢4

3. If fx) =x? — 3,find

0 fo) (0)°-3 = -3

iy ) -3=-2

i) 2 (2)*-3= |

W) fi-2 €a)-3 —2x-2 =44-3= |

W fied). €E9)'-3 = 16-3=13



4. If fix)=5— 2x, find

W fy 26-200)=5
(o)
i 2 = 5-2@)= 5-¢=|
i) -3 §-2(-3) =D sH6=1l

) A-1) 5-.2(-—?') =541=6

W) fik). 5-2(k) = S-2k

5. If flx) = 5x — 2, solve the following equations:

42

[l I eh— |
(i) flx =8 (ii) f(x):g (iii) flk) = —12.
v 4 v
SxA=8 S5xA=3 -2=-l2
y A8, xA=3 502,
T = : by x=1 ' +
=2 . l sh-=-10 /_.
50)-2 5l k=-2
6. If flx) =3x — 2 and g(x) = 2 — 4x, solve these equations:
(i) fx)=4 (i) gx) = (iii) g(x) = f(4).
A % 2
™ Ayx =-10 2-ux=3(4)-2
*"3)«*6 I - =_-12["2
: Z,—qx-— 'Zl ‘ 2-4y= 12- 2
“ul x-3 179 2uxzio
f/ -Yx:=8 I_
=4l x=-2 -9

Hiw Pg3q0 @3, .



7. Given fix) = 5x — 1, find

(i) f(-3)
(i) (1)
(iii) fik)
(iv) f2K)

(v) fi2k —1).
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8. The function fis defined as f:x—2 = 3x
Find the value of the number kif kfi3) = 7f(2).

It(.’l-J(s‘))=?(2 -3(5))
k(2-9) = 3(2-6)
K(-3) = 3(-v)

=3 =-28

.—-al K=y ’-"*

9. If flx) =2x — 3 and glx) = 3 — 5x, solve these equations:

(i) flx)=7 (i) gvy= 7 (iii) flx) =gl 3).



10. Afunction is defined by f:x — 5x — 7.
(i) Find f(4). (i) Find the value of k for which f(—3) = kf(3).

11. The function fis defined by f.x — 3x — 4.
For what value of kis fik) + f(2k) = 0?

12. f:x—4x and g:x— x + 1 define two functions.
If g(3) + k[f(3)] = 8, find the value of k.



13. f:x=2x2—1 and g(x) = x + 2 define two functions.
Solve these equations:

(i) f)=3 (i) gx) = f(3) (iii) f(x) = glx).

14. h:x— 2x + a and k:x — b — 5x are two functions where a and b are real numbers.
If h(1) = =5 and k(—1) = 4, find the value of a and the value of b.

15. Afunction f(x) is defined by f(x) =1 + %

() Evaluate f(—4) and f(%)
(i) Find the value of x for which f(x) = 2.
(i) Find the value of kif kf(2) = f(3).



16. g(x) = 1 — 4x defines a function.
(i) Find g(k +1).
(ii) Solve the equation g(k + 1) = g(—3).

17. Given that f(x) = 2% find

(i) f(4)

(i) f(=2)

(i ; _V2
iii) the value of x for which f(x) = 5

Exercise 19.3

1.6 -1 ) -3 Gi) 1 (v -5 W) -9
2. )3 () =5 (i) =17 (v) =3 (v) —4
3. () =3 (i) =2 (i) 1 (v 1 (v 13
4. s (i) 1 (iii) 11
(iv) 6 (v) 5— 2k
5. () x=2 (i) x =1 (i) k= -2
6. ()x=2 (i) x=3 (iii) x= -2
7. () 16 (i) 0 (iii) 5k — 1
(iv) 10k —1  (v) 10k — 6
8 k=
9. ()x=5 (i) x =2 (i) x =2
10. (i) 13 (i) k="
1M k=%
1zk:§
13, () x==/2 (i) x=15
(i) x = —1,2
14. a=-7,b= -1
15. () 5N (i) 2 (iii) 3
16. () —4k -3 (i) k=—4

17. () 16 (i) & (iii) —3



